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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þöìîûyV 
 

    !î¦þy† ééô „þ 
    £zvþz!˜Ýþ éôé 1 
 

1Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV òxy®îy„þÄ‚ Ÿ·ƒó ééôôôôé þ™‚!_«!Ýþ x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû îÄy…Äy „þöìîûyÐ 

 …V x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû vþzþ™›yöì˜îû œÇþ’ ”yçÐ 

 †V ö†ï’#î,!_ îœöì“þ !„þ öîyGþyëûÚ x!“þ!îû_« î,!_îû*öìþ™ x§¬‚¦þR ö†ï’#öì„þ !„þ ßþº#„þyîû „þöìîûöì․é˜Ú 

 ‡V Ÿ!_«@ùÌ£ „þëû²Ì„þyîû ç !„þ !„þÚ 
 

2Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV œÇþ’y îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ !î!¦þ§¬ ²Ì„þyîû œÇþ’y îÄy…Äy „þöìîûyÐ œÇþ’y ßþº#„þyöìîûîû ë%!_« „þ#Ú (3 + 9 + 3) 

 …V Ÿy·öìîyöì„îû ö£“%þ=!œ !„þ !„þÚ vþz”y£îû’¢£ ²Ìöì“þÄ„þ!Ýþîû îÄy…Äy ”yçÐ “þyêþ™ëÅöì„þ Ÿy·öìîyöì„îû ö£“%þ îœy ëyëû !„þ˜y 

x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þöìîûyÐ (10 + 5) 
 

    £zvþz!˜Ýþ éôé 2 
 

3Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV îûy›y %̃‥y‣þyöìëÅîû ¢ê…Äy!“þîy”!Ýþ ¢‚öìÇþöìþ™ î’Å˜y „þöìîûyÐ 

 …V …Äy!“þîy” ¢Á™!„Åþ“þ !îKþy˜îy”#öì”îû ›“þ!Ýþ ¢‚öìÇþöìþ™ xyöìœy‣þ˜y „þöìîûyÐ 

 †V ²Ì!¢kþ …Äy!“þîy” „þëû ²Ì„þyîû ç !„þ !„þÚ 

 ‡V …Äy!“þîy” ¢Á™öì„Åþ ¢y‚…Ä ›“þ!Ýþ !„þ ˜yöì› þ™!îû!‣þ“þÚ ›“þ!Ýþ ¢‚öìÇþöìþ™ îÄy…Äy „þöìîûyÐ 
 

4Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV ßþº“þ‚²Ì›y’Äîy” „þyöì”îû ›“þîy”Ú ~£z ›“þîy”!Ýþîû ¢þ™öìÇþ ë%!_«=!œ !„þ !„þÚ îÄy…Äy „þöìîûyÐ x§¬‚¦þR !„þ¦þyöìî ~£z ›“þîy” 

…[þ˜ „þöìîûöì․é˜Ú (2 + 8 + 5)  

 …V ßþº“þƒ²Ìy›y’Äîy” ç þ™îû“þƒ²Ìy›y’Äîyöì”îû ›öì„Ä þ™yíÅ„þÄ „þ#Ú þ™îû“þƒ²Ìy›y’Äîy”# „þyîûyÚ “þ¤yöì”îû ›öì“þîû ¢›íÅöì˜ ë%!_«=!œ 

xyöìœy‣þ˜y „þöìîûyÐ (6 + 1 + 8) 
 

    !î¦þy† ééô … 
    Sœ!‹„þV 
    £zvþz!˜Ýþ éôé 1 
 

5Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV ö¢Ýþ ¢‚e«yhsþ îy‣þÄ¢îÅßþº“þyîû ¢)e!Ýþ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 …V ²Ì›y’ „þîû öë ö„þîœ›ye ~„þ!Ýþ Ÿ)˜Ä ö×’# xyöì․éÐ 

 †V „þ…˜ îœy öëöì“þ þ™yöìîû öë î%œ#îû ¢_́!ßþñ›y !”öìëû †!àþ“þ ¢‚öìëï!†„þ îy„þÄy„þyîû ¢D!“þþ™)’Å éôé îÄy…Äy „þîûÐ 

 ‡V ö„þ˜ ¢‚öìëy†#îû vþzþ™îû Sò.óV òó éôé~îû ¢Mþéyœ˜ (distribution) £ëû ˜yÚ îÄy…Äy „þîûÐ 
 



(2) 
 

6Ð öëöì„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV i) ö¢öìÝþ ¢”¢Ä“þyîû ¢Áºõþ îœöì“þ „þ# öîyGþyëûÚ S2V 

  ii) ö¢Ýþ !¦þ§¬“þy SdifferenceV îœöì“þ „þ# öîyGþyëûÚ S2V 

  iii) !˜Á¬!œ!…“þ îy„þÄ=!œîû ö„þy˜!Ýþ ¢“þÄ SA, B ~î‚ C éôé ¢„þœ ö¢öìÝþîû öÇþöìeVÚ !›íÄy £öìœ îy„„þ ”,ÜTyhsþ ”yçƒ S4V 

a) ë!” A B  ~î‚ B C  £ëû  “þy£öìœ A C  . 

b) ë!”  A B   ~î‚ B C  £ëû  “þy£öìœ A C  . 

c) ë!” A B  ~î‚ B C  £ëû  “þy£öìœ A C  . 

d) ë!” A B  ~î‚ B C  £ëû  “þy£öìœ A C  . 

  iv) ë!” A ¢„þœ ¢”íÅ„þ ¢‚…Äyîû ö¢Ýþ £ëû ~î‚    B 2,3,5 ,C 1,2,4  ~î‚  D 1,5  £ëû‟ !˜Á¬!œ!…“þ 

ö¢Ýþ=!œ !˜’Åëû „þîûƒ S3V 

   a)    A ~ C A ~ D  

   b)    A B C D   

   c) D ~   

  v) ë!”    V 1,2,3,4,5 , A 1,2   ~î‚  B 2,5   £ëû‟ !˜Á¬!œ!…“þ ö¢Ýþ=!œ !˜’Åëû „þîûƒ S2V 

  a) ~ B 

  b) ~ B ~ A 

 vi) ö¢Ýþ !œ!þ™öì“þ x %̃îy” „þîûƒ S2V 

  a) @ùÌ£=!œ vþzIµœ 

  b) ¢öìe«!Ýþ¢ x¢‚…Ä 

 …V i) î%œ#îû ¢_´îy„þÄ ÷î„ £çëûyîû Ÿ“Åþ „þ#Ú S2V 

  ii) î%œ#ëû ¢_́ ²Ìy„þ!Ò„þ îy„þÄ „þyöì„þ îöìœÚ î%œ#ëû ¢_́þ ²Ìy„þ!Ò„þ îy„þÄ ÷î„ £çëûyëû Ÿ“Åþ „þ#Ú S4V 

  iii) !˜Á¬!œ!…“þ îy„þÄ!Ýþîû ¢D!“þþ™)’Å“þy ëy‣þy£z „þîûƒ S3V 

   ö„þyöì˜y F ˜ëû G ~î‚ ~›˜ !„þ․%é xyöì․é ëy F ~î‚ G  vþz¦þöìëû£zÐ 

  iv) !˜Á¬!œ!…“þ öëöì„þyöì̃ y ”%!Ýþ ë%!_«îû ÷î„“þy !î‣þyîû „þîûƒ S3 + 3V 

   a) BRAMANTIP 

   b) ( ), ( ) ( )/ ( ) ( )    Ix Jx x Ix Jx x Jx Ix  

   c) „þœy ç xy•%îû £ëû šþœÐ 

    šþœ ~î‚ ¢î!‥ £ëû þ™%!ÜT”yëû„þÐ 

    ¢%“þîûy‚ šþœ £ëû þ™%!ÜT”yëû„þÐ 

  

    £zvþz!˜Ýþ éôé 2 
 

7Ð öë ö„þyöì˜y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV œÇþ’ ç !î¦þy‥öì˜îû ›öì„Ä þ™yíÅ„þÄ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 …V öëï!_«„þ !î¦þy‥˜ ç xD!î¦þy‥öì˜îû ›öì„Ä þ™yíÅ„þÄ îÄy…Äy „þîûÐ 

 †V ¢‥y“þ#ëû ²Ì‥y!“þ Sco-ordinate species) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 ‡V ›„Äî“Åþ# ‥y!“þ (subaltern genera) îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

 
 



(3) 
 

8Ð öëöì„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV i) œÇþ’ !˜’Åöìëûîû !˜ëû›=!œ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ S9V 

  ii) !˜Á¬!œ!…“þ œÇþ’=!œöì“þ „þ# ö”y¡ì ‡öìÝþöì․é ~î‚ ö„þ˜Ú  Söëöì„þyöì˜y !“þ˜!ÝþV S3 × 2V 

   a) £zvþzöìîû!˜ëûy› £ëû ~›˜ ëy þ™yîû›y˜!î„þ öîy›y ÷“þîû#öì“þ îÄî£*“þ £ëûÐ 

   b) ›y %̃¡ì £ëû ~›˜ î%!kþî,!_¢Á™§¬ ‥#î ëyöì”îû ç‥˜ 80 ö„þ!‥îû vþzþ™öìîûÐ 

   c) ßþºyßþiÄ £œ àþyuþy ç †îû› vþzþ™y”yöì˜îû ›öì„Ä ¦þyîû¢y›ÄÐ 

   d) ~„þ!Ýþ !îöì‥yvþü ¢‚…Äy £œ ö‥yvþü ¢‚…Äyîû öíöì„þ 1 öîŸ#Ð 

 …V  xV öëï!_«„þ !î¦þy‥öì˜îû öëöì„þyöì̃ y ”%!Ýþ !˜ëû› vþz”y£îû’¢£ îÄy„þÄy „þîûÐ S5V 

   xyV !möì„þy!Ýþ„þ !î¦þy‥˜ vþz”y£îû’¢£ îÄy…Äy  „þîûÐ S4V 

   £zV !˜Á¬!œ!…“þ !î¦þy‥˜=!œîû ›)œÄyëû̃  „þîûƒ S6V 

    i) ›y %̃¡ìöì„þ ¢¦þÄ ç x¢¦þÄ ö×’#öì“þÐ 

    ii) þ™”öì„þ ~„þîy‣þ„þ‟ ¢y!îÅ„þ ç ›)“Åþ ö×’#öì“þÐ 

 

 

    !î¦þy† ééô … 
    S~˜ä„%þÄëûyîû#V 
    £zvþz!˜Ýþ éôé 1 
 

5Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV vþzþ™œÇþîy” îœöì“þ !£vþz› „þ# öîyöìGþ˜Ú 

 …V „þyëÅ„þyîû’ ¢Á™„Åþ !„þ ~„þ„îûöì’îû x¦þÄy¢Ú !£vþz›öì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 

 †V ßþºy„#˜“þy îœöì“þ !£vþz› „þ# öîyöìGþ˜Ú 

 ‡V òx!˜îyëÅ“þyó „þ#Ú !£vþz›öì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 
 

6Ð öëöì„þyöì˜y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV „þyëÅ ç „þyîûöì’îû ›öì„Ä xyöìî!ŸÄ„þ ¢Á™„Åþ îœöì“þ „þ# öîyGþyëûÚ !£vþz› „þ#¦þyöìî ö”…y˜ öë îy£Ä x %̃¦þöìî îy xyhsþîû 

x %̃¦þöìî xy›îûy xyî!ŸÄ„þ ¢Áºöìõþîûîû „yîû’y þ™y£z ˜yÚ S4  + 11V 

 …V ²Ìy’#öì”îû !î‣þyîûŸ!_« ¢Áºöìõþ !£vþzöì›îû ›“þ !îŸ”¦þyöìî îÄy…Äy „þîûÐ 
 
 

    £zvþz!˜Ýþ éôé 2 
 

7Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV „›#Åëû ²Ì„þÒ ¢Á™öì„Åþ !£vþzöì›îû ›“þ îÄy…Äy „þîûÐ 

 …V ¦þ!î¡ìÄ“þ îûyÜTÉ ¢Á™öì„Åþ !£vþzöì›îû ›“þ „þ#Ú 

 †V ¢‚ë“þ ¢‚Ÿëûîy” îÄy…Äy „þîûÐ 

 ‡V !þ™öìîûyîû ¢‚Ÿëûîy”öì„þ !£vþz› !„þ ¢›íÅ˜ „þöìîû˜Ú  
 

8Ð öëöì„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV !£vþz› þ™)îÅ†y›# ¢‚Ÿëûîy” îœöì“þ „þ# öîyöìGþ˜Ú „þ# „þ# „þyîûöì’ !“þ!˜ þ™)îÅ†y›# ¢‚Ÿëûîy”öì„þ …[þ˜ „þöìîû˜Ú !£vþzöì›îû 

x %̃î“Åþ# ¢‚Ÿëûîy” ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ S4 + 4 + 7V 

 …V ò~˜öì„þyëûy!îûó xîœÁºöì˜ xöìœï!„þ„þ ‡Ýþ˜yîû îÄy…Äy ”yçÐ 
 



(4) 
 

English Version : 

[Use a separate Answer Book for each group] 
 

Group – A 

Unit – I 
 

 

1. Answer any two questions of the following : (2 × 5) 

 a) ―Āptavākyaṁ Śabdaḥ‖— Explain this sentence according to Annaṃbhatta. 

 b) Define ‗Upamāna as pramāna‘ according to Annaṃbhatta. 

 c) What is Gaunivṛitti? Does Annaṃbhatta accept Gaunivṛitti as a distinct vṛitti? 

 d) How many kinds of saktigraha are admitted? Name them. 
 

2. Answer any one question of the following : (1 × 15) 

 a) What is lakṣaṇā? Explain the different kinds of lakṣaṇā with an example. What is the 

significance for accepting lakṣaṇā? [3+9+3] 

 b) What are the conditions of Śābdabodha? Explain each of them with an example. Is tātparya an 

important condition of  Śābdabodha? Discuss according to Annaṃbhatta. 
 

Unit – II 
 

 

3. Answer any two questions of the following : (2 × 5) 

 a) Briefly explain Rāmānuja's theory of Satkhyātivada. 

 b) What is the theory of Vijñānāvādi's of Khyātivāda? Explain briefly. 

 c) How many important types of Khyātivāda are admitted? What are they? 

 d) What name is associated with the Saṁkhya theory of Khyātivāda. Explain the view briefly. 
 

4. Answer any one question of the following : (1 × 15) 

 a) Who are the proponents of Svatah prāmānyavāda? What are the arguments in favour of this 

view? Explain them. How does Annaṃbhatta refute this view? [2+8+5] 

 b) What is the difference between Svataḥprāmānyavāda and Parataḥprāmānyavāda? Who is the 

proponent of Parataḥprāmānyavāda? Discuss the arguments in favour of this view. 
 

Group – B 

(Logic) 

Unit - I 
 

5. Answer any two questions of the following : (2 × 5) 

 a) Explain the principle of extensionality for sets. 

 b) Prove that there is only one empty set. 

 c) When  can be said that a conjunction of Boolean existence schema is consistent? – Explain. 

 d) Explain why ' ' cannot be distributed over conjuction. 
 

6. Answer any one of the following : (1 × 15) 

 a) i) What is meant by membership relation in sets? (2) 

  ii) What is meant by set difference? (2) 

  iii) Which of the following statements are true (for A, B and C, all sets)? If false, give counter 

example. (4) 

1) If A B  and B C , then A C  

2) If  A B  and B C  then A C  

3) If A B and B C then A C  

4) IF A B and B C then A C  

 



(5) 
 

  iv) If A = set of all positive integers   

      B 2,3,5 , C 1,2,4  and  D 1,5 , Determine the following sets: (3) 

   a)    A ~ C A ~ D  

   b)    A B C D   

   c) D ~   

  v) If     V 1,2,3,4,5 , A 1,2   and  B 2,5 ,  Determine the following sets:  (2) 

  a) ~ B 

  b) ~ B ~ A 

  vi) Translate the following into set theoretic notations: (2) 

a) Planets are luminous. 

b) Socrates is numerous.  

 b) i) What is the condition for the validity of existence schema?  (2) 

  ii) What is meant by Boolean existential conditional? What are the conditions for the validity 

of Boolean existential conditionals? (4) 

  iii) Verify the consistency of the following statement: (3) 

   No F are G and there is something which is both F and G. 

  iv) Test the validity of any two of the following arguments: (3 + 3) 

   a) BRAMANTIP 

   b) ( ), ( ) ( )/ ( ) ( )    Ix Jx x Ix Jx x Jx Ix  

   c) Bananas and grapes are fruits. 

    Fruits and vegetables are nourishing.  

    Therefore, bananas are nourishing. 

 

Unit – II 
 

7. Answer any two questions of the following : (2 × 5) 

 a) Explain with illustrations the distinction between definition and division. 

 b) Distinguish between logical division and physical division. 

 c) What is meant by coordinate species? Explain with example. 

 d) What is meant by subaltern genera? Explain with example. 
 

8. Answer any one question of the following : (1 × 15) 

 a) i) Explain briefly the rules of definition. (9) 

  ii) What are fallacies involved in the following definitions and why (any three)? (3 × 2) 

1) Uranium is used in atom bombs. 

2) Man is a rational being who weighs over 80 kgs. 

3) Health is the balance of hot and cold elements. 

4) An odd number is a number one more than an even number. 

 b) i) Explain with examples any two rules of logical division. (5) 

  ii) Explain with example division by dichotomy. (4) 

  iii) Evaluate the following divisions: (6) 

a) Man into civilized and uncivilised. 

b) Terms into singular, general and concrete. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



(6) 
 

Group – B 

(Enquiry) 

Unit - I 
 

5. Answer any two questions of the following : (2 × 5) 

 a) What does Hume understand by occassionalism? 

 b) Is causal relation a habit? Discuss after Hume. 

 c) What does Hume understand by liberty? 

 d) What is 'necessity'? Discuss after Hume. 
 

6. Answer any one of the following : (1 × 15) 

 a) What is meant by necessary connection between cause and effect? How does Hume show that 

we do not get the idea of necessary connection either in outer experience in inner experience? (4 + 11) 

 b) Explain in detail Hume's view on animal reasoning. (5 + 10) 
 

Unit – II 
 

 

7. Answer any two questions of the following : (2 × 5) 

 a) Explain Hume's view about religious hypothesis. 

 b) What is the view of Hume about future state? 

 c) Explain mitigated scepticism. 

 d) Does Hume admit Pyrroho's scepticism? 
 

8. Answer any one question of the following : (1 × 15) 

 a) What does Hume mean by 'antecedent scepticism'? On what grounds does he reject antecedent 

scepticism? Give a brief account of Hume's consequent scepticism. (4 + 4 + 7) 

 b) Discuss miracle following 'Enquiry'.   

 

———— × ———— 


